
Polynomials 
Ex. 2.5
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hx.2.SI① Get 4) (x -110)
= x2 + (4+10)×-1-4 ✗ to [*+a) ⇐ + b) = x2 -1 @ +b) sctab]
= x2 -114×1-40

① (x -18) ( x -10)

= K -18) ③+ 1-1-08
= x2 -1 [81-(-1-0)] set 8 (-1-0) [⇐+a) ⇐ + b) = x2 -1 @ +b) sctab]
= x2 - 2)C- 80

④ (3×-144) (3×-5)
= #+ 4) ③ctfs))
= ③c) 2-1 @ + (-5133×-141-5) [⇐+a) ⇐ + b) = x2 -1 @ +b) sctab]
= 9×2 - 3K - 20

④ @ 2*3-2) @2-3-2)

= @ 2)2- (3)
2 [ later)(a - b) = a2 - b)

= y
"
-

① ③ - 2)c) ③+Zx)
= (3)2- (2)c) 2 [ (atb)@ - b) = a2 - b)
= 9 - 4×2

210 103×107

= (100-13) (100-17)
= (1-00)'t (3-1-7) 1001-3×7 [⇐+a) ⇐ + b) = sit @ +b) sctab]
= 10000-110001-21
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= 11021

④ 95×96

= (100-5) (100-4)
= [1001-1-5] [100+1-43] [⇐+a) ⇐ + b) = sit @ +b) sctab]
= (10012+4-5) -11-481001-(-5×-4)
= 10000 - 900 -120

= 9120

④ 104×96

= (100-19) (100-4)
= (10012 - (4) 2 [ (atb) Ca - b) = a2 - b)
= 10000-1-6

= 9984

310 9×2 -16kg t y
2

= (3)c) 2 -12 (3)c) (g)1- y '

= 13kt g)
2 [ at-2ab-tb2-la-e.PT

= (3×+2) Katy)

④ 4y2 -4g -11

= Ky) -2--212g) (1) + (1) 2

= (2g - 1)
2 [ a2- Zab _tb2= (a- b)2)

= Ky -1) (22-1)

④ x2 -81%

= (a)
±
_ ¥012
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= ⇐ +E) (c-E)
[ : a' - b' = @+b) La- ed]

4①(kt2yt4z)2
= sit@g)It @ g)

2

-124412g) -1212g)@z) -12@g) (a)
[ '

:(atb-42-a2-b2-c2-2ab-zbc-2.ca
= x2 -1 4y2 -11632 1- Yxy + 16 yz -18×3

① (2x - y -1312
= ②set f- g) + g)

2

= (2)c)
2
-1 f- g)

2
-1 32 -12¢ >c) C-g) + 2. C- g)(z) -12 (3) (2)c)

[ '

:@+ let c)
2
= a2-ib2-c2-2ab-zbc-2.ca

= 4×2 1- y2 -132 _Yay -2 yz 1- Yaz

④ C-2x-13g -12 g)
2

= C- 2)c) 2-1 @g)2-+12312+21-2>c) ②g) +213g )(2z ) -12123×-2>4
[ '

:(atb-42-a2-b2-c2-2ab-zbc-2.ca
= 4×2+9221--432 - 12kg -112 yz - 8 scz

④ ③a- 7-b- e)
2

= ③at ≤ 7-b) 2 + C-d)
2

= (3.a)
2
-1 ( 7-b) 2-1 C-c)

2
-12 ③a) £7b) -12 C- 7-b) C-c) -12L- e)③a)

[ '

:(atb-42-a2-b2-c2-2ab-zbc-2.ca
= 9a2 -14912-1 C2 - 42ab -114be - Gac

⑥ f-2kt Sy -3312
= [-2×+521-(-3-3)]

≥

= C- 2x)2t(5y)2--3z)2 -12 ⇐ e) ⇐y) -12⇐g) (-3-3) -12-(33×-4)
[ '

:(atb-42-a2-b2-c2-2ab-zbc-2.ca
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= 4×2-1252-2 -1932 -20kg - 30yz -112×3

④ ⇐ a- ± b + 1)
2

= ⇐at b) 1-1-12
= ⇐ a)2+1-1=242+1112-1%2# a) f) +É (1) + ⇐

<
a)

[ '

:(at let c)
2
= a2 -162 + C2 -12ab -12 be -12C a)

= ¥

.az/-1--yb2t1-Igab-bt1-za5104x2t9y2t1Gz2t12xy-24yz
- 16k2g

= (2)e) 2-1 @g)2-11-43)
≥

-12 (2)c) ③y) -1213g) ( 4z)t2-4z) (2)c)
E. a 2-1 bite 2-1-2abt 2.bet 2ca= (atbtc))

= [2kt 3g + ( - YZDZ
= (2kt 3g - 4z)2
= (2)C -13g - Yz ) (2kt 3g - Yz)

④ 2×2-1 y2 -1832 - 252 xy -1452 yz - 8K2g
= (-52,42-182+12523) 2-1 21-52 a)( y) -12(g) (25231-124523)-6,4
= (-Fact y -1252 g)

2

[ : a't b ' te 2 -12 abt 2be -12ca = (atbtc))
= C-Ext y -12523 ) (-52×-18-12523)

610 (2×+1)
3

⑥+b) 3 = as -1 3ab(atb) + lid
= (2)c)3-1-36>c) (1) (2×+1) + (1)

3

= 8×3-1 12×2-16×-11
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A

④ ② a- 3h13
[ (x-g)

3

= ✗
3- 3kg ( x - y) - y)

= a)3- 36a) ③b) (Za- 3h) - ③b)
3

= 803 - 36 a2b + 54 all - 27h3

④ €2k -1113
Cat b.) 3 = as -1 3ab(at b) + b)

= ⇐ xD -13 ③a) (1) (3×+1) +(1)
3

= ⇒✗3 + # x2 + G- x -11

④ (c- 2-3 g)
3

⑥ - b) 3 = as - 3ab( a -b) - lid
= (a) 3-1-31 c) (2-3,1)*-2-3 g) - ⇐ g)

3

= ✗
3- 2×-2 y + 4-3×02 _ §zy3

7-① (9913
= ( too - 1)

3

(a- b)
3
= as - 3ab( a- b) -13

= (10013-34-00)(1) (100-1) - (1) 3

= 1000000 - 30000 -1300 - I

= 1000300 - 30001

= 970299
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④ (1-02) 3

= (100+2)
3

⑥+ b) 3 = as + 3ab( a +b) + BB
= (10013-134-00) (2) (100-12) 1- (2)3

= 10000001-600001-12001-8

= 1061208

④ 9983

= (1000 - 2)
3

(a- b)
3
= at - 3ab( a-b) - 63

= (100013-34-000) /2) (1000-2) - (2)
3

= 1000000000 - 6000000 1-1-2000 -8

= 1000012000 - 6000008

= 994011-992

810 803+13+12a2b +Gab
?

= ② a) 3 +(b)3+36 a) (b) Katb)
= Ka +b)

3 [ xˢty3 -13kg ( xty) = ⇐ + g)3)
= (Zatb) Kate Kat b)

④ 8a3 - 63 -12 a.2b + 6-all

= (2 a)3- (b)3- 3 ②a) (b) ( Za- b)
= (za - b)

3

[ ✗3- y3 - 3xy( x -g) = ⇐-y))
= ka - b) ②a-b) ② a- b.)

④ 27-1-25 as -135a -1225 a
≥

= (3)
3
_⇐a)3 -3 (3)⇐a) ( 3- Sa)

= (3-Sa)ˢ [ ✗3- yˢ- 30cg ( x-g) = K -YB
= (3-Sa) (3-Sa) (3-5 a)
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I

⊕ 64 as - 27h3 _ 144 a2b -1108 ab
≥

= @ a)
3
_ @b)3- 3@a) (3b) ( Ya-3L)

= @ a -3913 [ e3 - y3- 3xy( a- ⇐g) = # - g)3)
= (Ya -3h) @ a -3k) @ a-3lb)

① 27ps-É - 9-2 p 2-1-14 p

= (3p)ˢ _ 3-
3 (3P)⇐) @ p -¥)

= ③ p - f)
3 [ xˢ -yˢ - 3kg ( x-g) = (c-y

= fsp - f) fsp -⇒ fsp - f)

910 Verify x3ty3= ⇐+g) ¢2_ say -1yd
Let p(k,g) = ✗

3 -1 y3
Put x= - y

:-p fy, y) = C-g)3+23
= - y

3 + y
3

= 0

i. by factor theorem , ⇐+g) is a factor of PW

Kx3tj#c2 - ✗ y + y 2
✗
3

+ x2y

-
-

.

'

. x3tg3= Katy) (x2 -3cg 1-yY
- sing -183 Hence verified .

- K2 y - XYZ

y3 + xyzf+÷
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④ ✗3- g.
3
= (e-g) ⇐ 22

+xytyY
Let pfc , = ✗

3- y3
Put x=y

Pff, g) = yes - yes
= 0

-

'

. by factor theorem, (x-D is a factor of peed

e-y)sc3_y32+xyty2
✗
3

- x2y
- +

x2y -y3
✗
2

y
- Xyz

- +

Xyz- ys
Ry

#
- yes

- +

0

.

'

.
✗
3- = ⇐ - y) (x2 -1dg -1yd Hence verified .

1010 2723-112533
= @g)

3
+ (Sz)3

aˢtbˢ= (atb) @2-abtbz
= by -1-53) [ ②g)2-③ g)⇐3) +⇐ z))
= (3g -153) (922-15 yz -12533

④ 64ms - 343ns

= (4m13 _ (7-up
as _ Is = (a-b) Caztab -114

=
.
@ m- 7-n) ¢4m)2t(4m)(7n + (7m$

= (4m-7in) ¢6 m2 -128mn -149N)
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11 . 27×3-1 y
3 -133 _ 9 seyz

= (3)c)3-183-1 33 - 3 (3)c) (g) (3)
a3tb3+cˢ - Sabe -= (atbtc)@ 2 +b-4- c- - ab - be - (a)

= fsxtytz ) [ (3>42-18-2+32 - (3*-16) - (g) (z) - (g) (3-4)
= (3)ctytz) (9×2 1- y 2-1-32 -3kg - yz -3xz)

12 . Verify: oc3-ig-3-z3-3xyz-1-zktgtzf.CC -g)2-1@ -③2+(3-042)
f.HE x3ty3 -133 - 3)cyz
= (c- +ytz)@+ y 2-13--2- xy - yz - zx)
Multiplying and dividing by2

= 2×1-2 ⇐tytz) (x2 -122+32 - say _yz - zx)

= ¥ (ctytz) (2×2-1222-1232 -2kg -Zzz -Zzx)

= ± ③tytz) ⇐ 2-1×2 1-yzty 2 -132 -132 -Zay - Zyz -23 a)

= ± txtytz) ④ Zty 2-Zxy) -162 -132 -Zyz) +132-1×2- 2xzD

= 1-2 (xtytz)# -g)
2
+(y - 3)

2
+ (z -x5J

= R . H - S .

Hence verified

13 .x3ty3tz3-3xyz-octytzJ@c2-y2tz2_xy-yz-zxfor.sit y 3+33-3×23=0 (sit yztz2-xy-yz-zs.cl [ :X-1-2-13=0
given]

oh ✗
3 -1 y3 -133-3×23=0

or sit y3+33=3 scyz
Hence -proved
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14 (-1-2)
}
+ (7)

3
+ (5)

3

Here K= -12, y = 7 , z = 5

xtytz = - 1-2-17 -15 = -1-2+12=0

If set ytz =-0
,
then set y

3
-1 33 = 3.x yz

:-( 1-2)
3
+ (7)

3
+ (5)3=3 (-1-2) (7) (s)

= - 126-0

④ (2813-11-15)3-11-1313
Here ✗ = 28, y = - 15 , z = -13

kt y -13=28+(-1-5) -1 (-1-3)
= 28 - 28

= 0

If scty -13=0, then so 1-y3-13-3=3Xyz
:(2 8)3-1 (-1-5)

3
+ 1-1 3)

3
= 3 ②8) 5) (-1-3)
= 16380

1510 Area= 2502 -35a -1-12

= 25a2 - 20 a -15a -112

= Salsa - 4) - 31 sa-4)
= (sa - 4) (sa - 3)

i. length = ⇐a - 4) units
breadth = (sa -3) units

④ Area = 3 -5g
2

-113g - 12

= 35g
2

-128g - 15y -12

= 7- y ( Sy + 4) - 3C Sy 1- 4)
= by -14) ( 7g - 3)

i. length = (52-+4) units
breadth = (72-3) units
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16 Volume = 3×2 - 12k

= 3k ( x -4)

i. length = 3 units
breadth = K units

height = (se - 4) units

④ Volume = 12kg2 + 8kg - 20k

= 4 k ( 3y 2 -12y - s)
= 4k (3y 2 - 3y t 5y - 5)
= 4k ③y ( y - 1) -15 (y -1)]
= 4 k.ly -1) (3g + 5)

.

'

. length = 4k units
breadth = (y - 1) units

height = ③yts) units
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